
;L=g+= ;+s=t g+= cfo lzif{s )&).)&!
cg'dflgt cfo

rfn'         cf=j=sf]
;+;f]lwt cfo

)&)d+;L/    ;Ddsf] oyfy{ 
cfo

! cfGtl/s >f]t 0.00
1=1 :yflgo s/ 2906332.40 2906332.40

1 1=1=1 dfnkf]t tyf e"lds/ 500,000.00 500,000.00 14,899.10
2 1=1=2 3/hUuf s/ 20,000.00 200,000.00 107,644.59
3 1=1=3 axfn s/ 50,000.00 50,000.00
4 1=1=4 lj6f}/L s/ 0.00 0.00
5 1=1=5 Aoj;fo s/ 500,000.00 800,000.00 287,800.00
6 1=1=6 ;jf/L s/ 1,457,601.00 1,457,601.00 500,000.00
7 1=1=6=1 ;jf/L btf{ tyf jflif{s ;jf/L s/ 10,000.00 10,000.00 2,000.00
8 1=1=7= ;Dklt s/ 1,100,000.00 2,000,000.00 667,602.23
9 1=1=8 dgf]/~hg s/ 20,000.00 20,000.00
10 1=1=9 lj1fkg s/ 50,000.00 50,000.00 20,500.00

hDdf 6,613,933.40 7,993,933.40 705,001.33
11 1=2 ;]jf z'Ns 125,000.00 150,000.00 693,458.14
12 1=2=1 ;jf/L kfls{ª z'Ns 1,433,101.00 1,433,101.00 500,000.00
13 1=2=2 dxz''n tyf ;]jf z'Ns

14 1=2=2=1 vfg]kfgL dxz'n 0.00
15 1=2=2=2 ljw't dxz'n 40,000.00 40,000.00 200.00
16 1=2=2=3 6]lnkmf]g dxz'n 0.00
17 1=2=3 ko{6g ;]jfz'Ns 0.00
18 1=2=4 ;fj{hlgs ;'ljwf pkof]u ;]jfz'Ns 5,000.00 10,000.00
19 1=2=5 ;fj{hlgs ;+/rgf dd{t ;+ef. Z'Ns 5,000.00 10,000.00
20 1=2=6 crn ;Dklt d'Nofsg ;]jf z'Ns 60,000.00 60,000.00
21 1=2=7 :yflgo ljsf;z'Ns 0.00
22 1=2=8 cGo ;]jf z'Ns 400,000.00 400,000.00 98,494.04

hDdf 2,068,101.00 2,103,101.00 792,152.18
23 1=3 b:t'/

24 1=3=1 btf{ tyf gljs/0f b:t'/ 50,000.00 50,000.00
25 1=3=2 gS;fkf; b:t'/ 50,000.00 50,000.00 40,413.43
26 1=3=3 l;kmfl/z tyf aS;f}gL b:t'/ 650,000.00 800,000.00 405,261.25
27 1=3=4 gftf k|dfl0ft b:t'/ 40,000.00 40,000.00 13,670.00
28 1=3=5 cGo b:t'/ 50,000.00 23,000.00

hDdf 790,000.00 990,000.00 482,344.68
29 1=4 ljs|L

30 1=4=1 rfn' ;Dklt ljs|L

31 1=4=2 :yfoL ;Dklt ljs|L

32 1=4=3 cGo ljs|L 200,000.00
hDdf 200,000.00 0.00

33 1=5 >f]t kl/rfng

34 1=5=1 ;fj{hlgs lghL ;fem]bf/L 200,000.00 200,000.00
35 1=5=2 cGo >f]t kl/rfng

hDdf 200,000.00 200,000.00 0.00
36 1=6 ;fjf+ Jofh nfef+z / jf]g; 0.00 0.00
37 1=6=1 ;f+jf kmLtf{ 0.00 0.00
38 1=6=2 Jofh jf6 cfo 0.00 0.00
39 1=6=3 nfef+z 0.00

hDdf 0.00 0.00 0.00
40 1=7 cGo cfo 24,000.00
41 1=7=1 b08 hl/jfgf 50,000.00 50,000.00 46,000.00
42 1=7=2 ef8f tyf jxfn jf6 cfo 50,000.00 52,000.00
43 1=7=3 w/f}6L hkmt 600,000.00 600,000.00
44 1=7=4 w/f}6L kmLtf{ 0.00

0.00

dn+ujf gu/kfnLsf sfof{no

)&).)&! cg'dflgt / ;+;f]lwt cfo tyf )&) d+;L/ ;Ddsf] oyfy{ cfo



45 1=7=5 k]lZs lkmtf{ 400,000.00 400,000.00
46 1=7=6 cGo ljljw cfo 0.00

aSof{tf c;'nL 5400000.00 5400000.00
;b/ :ofx 700000.00 800000.00
hDdf 7150000.00 7300000.00 98000.00
hDdf cfGtl/s 16,822,034.40 18,787,034.40 3,098,537.08
g]=a}=nL=dn+ujf n] /fhZj hDdf

u/]sf] /sd

23,750.00 0.00

j}+s lx;fj df}Hbft ut cf=j= sf] 233203.22 12068148.84 12068148.84
vftf af6 lkmtf{ 0.00 2210496.76 2210496.76
bflvnf ug{ afsL /sd 26102.00
hDdf 17105089.62 33065680.00 17377182.68

47 2 afXo >f]t

48 2=1 cg'bfg

49 2=1=1 g]kfn ;/sf/ jf6 cg'bfg
zzt{ cg'bfg  -rfn' 4,206,000.00 0.00
zzt{ cg'bfg  -k'hL ut 0.00 0.00
lgzt{ cg'bfg -rfn' 6,696,000.00 4,649,000.00 3,099,400.00
lgzt{ cg'bfg -k'hLut 0.00 11,200,000.00 9,865,300.00

52 2=1=1=3 cGo gub cg'bfg 9,804,310.30
53 2=1=1=4 j:t'ut cg'bfg

54 2=2=1 lhNnf ljsf; cg'bfg 1,500,000.00 0.00
55 2=2=1=1 zzt{ cg'bfg

56 2=2=1=2 lgzt{ cg'bfg 1,500,000.00
57 2=2=1=3 cGo gub lh=lj=;= 200,000.00 600,000.00 189,600.00
58 2=1=4 j:t'ut cg'bfg

59 2=3=1 cGo cg'bfg-hu]8f sf]if_ 15,000,000.00 25,000,000.00 2,669,000.00
60 2=3=1=1 cGo lgsfojf6 k|fKt cg'bfg -Pd=la=l;_ 20,000,000.00
61 2=4=1 j:t'ut cg'bfg tyf k|fljlws ;xfotf

62 2=4=1=1 j:t'ut ;xfotf

63 2=4=1=2 k|fljws ;xfotf

64 3=1 lh=lj=;=jf6 /fhZj af+8kmf+8 cfo

65 3=1=1 >f]t pkof]u s/ jf6 af+8kmf+8

66 3.1.2 ljs| jf6 af+8kmf+8

67 4.1 j}b]lzs ;xfotf

68 4.1.1 zzt{ cg'bfg

69 4.1.2 lgzt{ cg'bfg

70 4.1.3 j:t'ut cg'bfg

71 4.1.4 ;f]em} e'tmfgL

72 5.1 cGo cg'bfg

73 6.1 cGo lgsfzf

74 7.1 C[0f tyf ;fk6L -w/f}6L af6

75 7.1.1 j}s C[0f -:jb]zL_

76 7.1.2 cGo C[0f -:jb]zL_

77 7.1.3 ljb]zL C[0f

78 7.2 ;fk6L

79 8.1 rGbf,bfg,pkxf/

80 8.1.1 hg;xeflutf 10945000.00 0.00
81 8.1.2 nfut ;xeflutf 10945000.00 0
82 9.1 gu/kflnsf sf]if 0
83 9.2 cGo sf]ifx? 0
84 10.1 e'StfgL lbg' kg]{ ljj/0f 0
85 11.1 k|f|jwfg x? 0
86 12.1 e'StfgL kfpg' kg]{ /sdx? 0
87 13.1 k]lZs lx;fj 600000.00 600000.00 0.00
88 14.1 z'? lhlG; df}Hbft 0.00
89 14.2 clGtd lhlG; df{Hbft 0.00
91 17.1 gub 0.00

51 2=1=1=2

50 2=1=1=1



92 18.1 cfDbfgL vr{sf] lx;fj 0.00
93 19.1 s[ifL{ ;8s 1500000.00 1500000.00 700000.00
94 20.1 ;8s af]8{ g]kfn 1650000.00 3760000.00 1232109.00
95 21.1 L.G.C.D.P. 2620000.00 1755000.00 462000.00
96 22.1 dfnkf]t sfof{no af6 7500000.00 8000000.00 4654061.20

uf=lj=;= af6 0.00 400000.00 10000.00
u $. %. @ df df}= 0.00 0.00 0.00
hDdf -afXo >f]t_ 52417000.00 99713310.30 22881470.20
s'nhDdf 69522089.62 132778990.30 40258652.88


